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BERHFREFLTVWEERRELEEFIESE SHEX (B - A)

HERR B SEEN BREN AEEN atsiEE
INEEE 7 6 1 6.0
JIne B 7 6 | 6.0
PE 3 3 2 125
g 1 ] 0 -
R | ] 1 1.0
Hoitr 1 ] ] 1.0
B 10 9 3 3.0
AEIELEERHF v LU OEE SBEN (B4 A)
e R SREN 5 I RHSHEY | SIRHSHEEM
HREE HIERE L HTEERELE AR HIERE L
MHE 28 +18 21 +11 3 +2 18 +9
1IN 130 +62 113 +50 51 +11 62 +40
IINFERE 127 +60 110 +48 49 +9 61 +40
VANGE::Y 3 +2 3 +2 2 +2 1 0
FER 116 +30 100 +21 42 +20 58 +6
[ 7E 19 +8 17 +7 7 +2 10 +6
= 19 0 18 +3 3 +1 15 +2
B 14 +5 11 +2 6 +3 5 A1
HA 10 +5 10 +5 8 +6 2 A1
RS 5 +3 3 +1 0 0 3 +1
ES 5 +1 5 +1 5 +2 0 0
LRAK 18 A4 14 AT 0 A3 14 A1
Hifr 0 Al 0 A1l 0 A1l 0 0
FIE 7 +5 6 +4 6 +6 0 A2
TEE 18 +8 15 +6 6 +4 9 +2
IS 1 +1 1 +1 1 +1 0 0
[EES 0 Al 0 Al 0 Al 0 0
45 Rl AR AR 7 +1 7 +1 4 +3 3 A2
IINFERE 7 +1 7 +1 4 +3 3 A2
g 0 0 0 0 0 0 0 0
BE 17 A2 15 A3 1 A3 14 +2
x&E 0 A2 0 A1 0 0 0 0
#E 298 +107 256 +79 101 +33 155 +55




